Model 071024

B3l :



Ref# Part#

1

© 00 N O Ol & DN

A A DB OO WWWWWWWNDDNDDDNDNDNDDNDNDMNMNNMNNPRPRPPRPRPRERERPERERPRER
W NP OO 0N B OWNOOWOOWO UL WNNPEFE OO0 ~NO O b WDN P O

NSP
NSP
195667GS

B4986GS

193664GS
197279GS
197979GS
196094GS

192882GS

192696GS
B4857GS
192151GS
197355GS
B5107GS
196355GS
B5106GS
192558GS
200011GS
193159GS
190992GS
190984GS
192597GS
193450GS
197294GS
197198GS
192770GS

192150GS
193689GS
198129GS
202758GS
202361GS
202760GS

202841GS
193306GS

Description
ASSY, Enclosure
BACK PANEL
TRNSFR SWTCH, 100A, w/ Hdle
HHS, Trilobular, #10 - 32 x 1/2"
WASHER, Ext. Tooth, #10
DECAL, Ground
HHS, Trilobular, #6- 32 x 3/8"
INSULATION, Dead Front
CONTROL, Board
SPACER, PCB Board, 1/2"
GROUND LUG
WASHER, Lock 1/4"
BREAKER Circuit, 100A
NUT, 1/4" - 20
TERMINAL, Neutral
FUSE
FUSE HOLDER
CLIP, Latching Wire
DECAL, Connect Gen
DECAL, CT Warning
DECAL, Connection, Utility
DECAL, Suit. as Service Equip
DECAL, 100A, ATS
DECAL, Reinstall Barrier
DECAL, Warning Shock
DECAL, Fuse
DECAL, Sensing, Utility
DECAL, Breaker, Circuit
DECAL, Contacts Rating
DECAL, Wire Circuits
BRACKET, Circuit Breaker
HHS, Trilobular, 8-32x 3/8"
SPACER
WIRE, Copper
BRACKET, Crct Brkr Mntng
DECAL, Disconnect Utility
DECAL, Gen Disconnect
DECAL, Not Suitable
HHS, Trilobular, #10-32 x 3/4
SUPPORT, Locking, Crct Brd

SCREW, 1/4-20 Bndng, w/Envlp Parts Not Illustrated

Context Note

Purchase locally
Purchase locally

Purchase locally

Purchase locally

Purchase locally

Purchase locally

Purchase locally

Foot Note



Ref# Part#
193551GS
200010GS

195728GS CURRENT TRANSFORMER

192242TGS

Description
DECAL, Service Disconnect
MANUAL, Operator’s

ASSY, Wire, 6 Gauge

Context Note
Parts Not Illustrated
Parts Not Illustrated
Parts Not Illustrated
Parts Not Illustrated

Foot Note



